
BRU63976A-00
03/2025
01/40

LVS03591 / LVS03599 / LVS04972

NSYSFN2012802D● / NSYSFN20380● / 
NSYSFN20580● / NSYSFBK / 
NSYSFPN20780● / NSYSPF3200 / 
NSYSPF5200 / NSYSPF7200 / 
NSYSPF12200 / NSYSPS8200  

 

LVS04769  

LVS04582 / LVS04627 / LVS04654 / 
LVS04655

NSYSUCR9080 / NSYSUCR90120

NSYVR18

LVS03509 / LVS06500 / NSYSUCR9080 

NSYCAG291LPF / NSYCVF850M230PF

PrismaSeT 6300

LVS04971 / LVS06569 / NSYCAC228RM● 

p.14

p.18

p.15

p.16

LVS03598 / LVS04970 / LVS04979 / 
NSYCAC228RM●

p.31

p.23

p.26

p.27

p.04

p.08

p.10

p.11

p.12

p.13

p.09

p.07

p.05

LVS04510 / LVS04622 / LVS04646 / 
LVS04648 / LVS04649 / LVS04678 / 
LVS06540

NSYEC381 / NSYEC581 / NSYEC781 /
NSYEC1281 / NSYSUCR6580  p.06

 

p.33

p.35

p.36

p.39

p.34

p.19

p.22

p.21

LVS04739 

LVS04678

LVS04990

p.30

p.29

p.28

NSYEC128 / NSYSPF3100 / 
NSYSPF5100 / NSYSPF7100 /
NSYSPF12100 / NSYSPS8100

LVS04631

LVS04675

LVS08566

LVS03589

LVS04678 / NSYSUCR40120

LVS045●● / LVS04625 / LVS04660

LVS03483 / LVS03500 / 87233

NSYSUCR9080

LVS03707 / LVS03708 / NSY2SPN208●

NSYCAG291LPF 

NSYCAG291LPF 

LVS04515 / LVS04681 / LVS04682 / 
NSYCAC228RM● / NSYCVF575M230M●

NSYSFELB / NSYSFTB16 

p.06

p.16

p.30

p.29

p.18p.28p.31p.30

p.28

p.28

p.29

p.29

p.10

p.16

p.10

p.08

p.09

p.06

p.15

p.04

p.04

p.16

p.04

p.19 p.30

p.14p.05
p.30

p.04

p.19

p.16

p.30

p.22

p.26
p.35

p.04

p.35

p.23

p.27

p.36

p.35

p.27

p.39

p.34

p.35

p.34

p.34

p.30 p.31

p.33

p.36
p.34 p.31

p.04

p.35

p.04

p.04

p.06

p.04 p.11 p.04 p.06 p.04

p.06

p.11

p.12

p.13

p.33



02/40 BRU63976A-00

RISCHIO DI SCARICA 
ELETTRICA , ESPLOSIONE 
O ARCO ELETTRICO

p  Utilice exclusivamente las tuercas 
y las placas suministradas.
p  No utilice el tornillo Linergy en 
lugar de las placas.
p  Apriete con fuerza todas las 
conexiones en el acoplamiento                               
indicado. 

 

GEFAHR VON ELEKTRISCHEM
SCHLAG, EXPLOSION ODER 
LICHTBOGEN
p  Verwenden Sie nur die mitgelieferten 
Muttern und Platten.
p  Verwenden Sie nicht die 
Linergy-Schrauben anstelle der Platten.
p  Alle Anschlussteile sind unbedingt mit 
dem angegebenen Anzugsmoment 
festzuziehen.

RISQUE D'ÉLECTROCUTION, 
D'EXPLOSION OU D’ARC 
ELECTRIQUE
p  Utilisez exclusivement les écrous 
et plaques fournies.
p  N’utilisez pas les vis Linergy à la 
place des plaques.
p  Serrez impérativement toutes les 
connexions au couple indiqué.

        

HAZARD OF ELECTRIC SHOCK, 
EXPLOSION, OR ARC FLASH 
p  Only use the screws and plates 
supplied.
p  Do not use the Linergy screws 
instead of the plates.
p  All connections must be tightened 
to the correct torque (as shown).  
Failure to follow these 
instructions will result in 
death or serious injury.   

PELIGRO DE DESCARGA 
ELÉCTRICA, EXPLOSIÓN O ARCO 
ELECTRICO

p  Utilizzare esclusivamente le  
piastre e i dadi forniti.
p  Non utilizzare le viti Linergy al  
posto delle piastre.
p  Serrare tutti i collegamenti alla  
coppia indicata. 

 

RISCO DE ELECTROCUSSÃO, 
DE EXPLOSÃO, OU DE 
ARCO ELÉCTRICO
p  Utilize apenas as porcas e placas 
fornecidas.
p  Não utilize os parafusos Linergy 
em vez das placas.
p  Aperte imperativamente todas as 
ligações de acordo com o binário 
indicado.

Le fait de ne pas suivre ces 
instructions entrainera des 
blessures graves, voire mortelles.

El incumplimiento de estas 
instrucciones tendrá como resultado 
la muerte o lesiones graves.

Eine Nichtbeachtung dieser 
Anweisungen hat Tod, schwere 
Verletzungen oder Schäden an der 
Ausrüstung zur Folge.

Il mancato rispetto di queste
istruzioni provocherà morte
o gravi infortuni.

A não observância destas instruções
resultará em morte, ou ferimentos
graves.

BITTE BEACHTEN
Elektrische Geräte dürfen nur von 
Fachpersonal installiert, betrieben, 
bedient und gewartet werden. 
Schneider Electric haftet nicht für 
Schäden, die durch die Verwendung 
dieses Materials entstehen.

TENGA EN CUENTA
La instalación, manejo, puesta en 
servicio y mantenimiento de equipos 
eléctricos deberán ser realizados sólo 
por personal cualificado. 
Schneider Electric no se hace 
responsable de ninguna dev las 
consecuencias del uso de este 
material.

NOTA
A instalação, utilização e manutenção 
do equipamento eléctrico devem ser 
efectuadas exclusivamente por 
pessoal qualificado. 
A Schneider Electric não assume 
qualquer responsabilidade pelas 
consequências resultantes da 
utilização deste material.

REMARQUE IMPORTANTE
L’installation, l’utilisation, la réparation 
et la maintenance des équipements 
électriques doivent être assurées par 
du personnel qualifié uniquement. 
Schneider Electric décline toute 
responsabilité quant aux 
conséquences de l’utilisation de ce 
matériel.

NOTA
Manutenzione, riparazione, installazione 
e uso delle apparecchiature elettriche si 
devono affidare solo a personale 
qualificato. 
Schneider Electric non si assume 
alcuna responsabilità per qualsiasi 
conseguenza derivante dall’uso di 
questo materiale.

PLEASE NOTE
Electrical equipment should be installed, 
operated, serviced, and maintained
only by qualified personnel.
No responsibility is assumed by
Schneider Electric for any
consequences arising out of the
use of this material.

ОБРАТИТЕ ВНИМАНИЕ
Установка, эксплуатация, ремонт и 
обслуживание электрического 
оборудования может выполняться 
только квалифицированными 
электриками. 
Компания Schneider Electric не несет 
никакой ответственности за любые 
возможные последствия 
использования данной 
документации.

DANGER / DANGER / PELIGRO / GEFAHR / PERICOLO / PERIGO / 危险 / ОПАСНО

请注意
电气设备的安装、操作、
维修和维护工 作仅限于合格人员执行。
Schneider Electric 不承担由于使用本资 
料所引起的任何后果”。

只能使用提供的螺钉和板。
不能使用 Linergy 螺钉替代板子。
必须按照正确的扭矩,紧固所有连接 
(如图所示)。

Опасность поражением 
электрическим током, опасность 
взрыва или вспышки дуги
p Используйте только винты и
пластины, входящие в комплект 
поставки.
p Не используйте винты Linergy 
вместо пластин.
p Все соединения должны быть 
надежно затянуты 
(как показано на рисунке ниже).
Несоблюдение этих инструкций 
приведет к смертельному исходу 
или серьезной травме

El producto debe instalarse, 
conectarse y utilizarse de conformidad
con las normas o reglamentos de 
instalación vigentes. 
Los paneles PrismaSeT equipados con   
el sistema de distribución y conexión 
Linergy y con equipos Schneider 
Electric cuentan con la certificación 
IEC61439-1 & 2. 

Dieses Produkt darf nur in 
Übereinstimmung mit den jeweils 
geltenden Standards und/oder 
Installationsvorschriften installiert, 
angeschlossen und verwendet werden.
Die PrismaSeT-Schaltanlage mit 
Verteilungssystem sowie Anschluss für 
Linergy-Systeme und Geräte von 
Schneider Electric sind gemäß 
IEC61439-1 & 2 zertifiziert.
Die Anweisungen in diesem Dokument 
beschreiben die Montage des 
Linergy-Systems in einer 
PrismaSeT-Schaltanlage. 
Die Montage in einer anderen 
chaltanlage obliegt dem Nutzer.

connected and used in compliance 
with prevailing standards and/or 
installation regulations.
PrismaSeT switchboards equipped with  
the Linergy busbar connection system 
and        Schneider Electric switchgear are 

The instructions in this document 
describe how to fit Linergy in a 
PrismaSeT switchboard. 
The installer is fully liable if it is fitted in 
any other switchboard.

Questo prodotto deve essere installato, 
collegato e utilizzato in conformità alle 
regolamentazioni di installazione e/o 
agli standard prevalenti. 
I quadri PrismaSeT dotati di sistema di 
ripartizione e connessione Linergy e di 
apparecchiature Schneider Electric 
sono certificati secondo la norma 
IEC 61439-1 e 2. 
Le presenti istruzioni descrivono il 
montaggio di Linergy in un quadro 
PrismaSeT. 
Il montaggio in qualsiasi altro quadro 
ricade sotto la responsabilità 
dell'installatore.

Este produto deve ser instalado, 
conectado e usado em conformidade
com as normas e/ou regulamentos 
de instalação em vigor. 
Os quadros PrismaSeT equipados com  
o sistema de repartição e ligação 
Linergy e as aparelhagens Schneider 

certificação IEC61439-1 & 2. 
A instruções deste documento 
descrevem a montagem de Linergy 
num quadro PrismaSeT. A montagem  
em qualquer outro quadro é da 
responsabilidade do instalador.

Это изделие необходимо устанав
ливать, подключать и эксплуатировать 
в соответствии с действующими 
стандартами и/или правилами 
установки.Распределительные щиты 
PrismaSeT,снабженные системой 
соединения сборной шины Linergy и 
распределительного устройства 
Schneider Electric, подпадают под 
сертификацию IEC 61439-1 и 2.
Инструкции в данном док АК Иенте 
объясняют как установить Linergy в 
распределительный щит PrismaSeT.
Ответственность за установку 
в любой иной распределительный 
щит полностью лежит на монтажнике.

本产品的安装、
连接和使用必须遵循现行标准和/ 
或安装法规的要求。
配有 Linergy 母线连接系统和
Schneider Electric 开关设备的 
PrismaSeT 配电盘通过 IEC 61439-1 
& 2 认证。
本文阐释如何在 PrismaSeT 配电盘
中安装 Linergy.
如果安装在任何其它配电盘中, 
该安装程序也同样适用。

This product must be installed,

subject to IEC 61439-1 & 2 certification.

Ce produit doit être installé, raccordé 
et utilisé en respectant les normes 
et/ou les règlements d'installation en 
vigueur.
Les tableaux PrismaSeT équipés du 
système de répartition, de connexion 
Linergy et d'appareillages Schneider 
Electric font l'objet d'une certification 
IEC61439-1 & 2.
Les instructions de ce document 
décrivent le montage de Linergy 
dans un tableau PrismaSeT.
Le montage dans tout autre 
tableau est de la responsabilité du 
metteur en œuvre.

Electric são objecto de uma

Las instrucciones de este documento 
describen el montaje de Linergy 
en el interior de un panel PrismaSeT. 
El montaje de dicho sistema en 
cualquier otro panel será 
responsabilidad del instalador.

不遵循上述说明将导致人员伤亡。

电击、爆炸或电弧闪光危险
p
p
p



03/40BRU63976A-00

HAZARD OF DROPPING
p Use strong slings with a valid 
use-by date when lifting with 
cranes.
p Attach the slings to the 4 lifting 
rings of the lifting bar of the 
cubicles.
p Secure the plinth of floor 
standing enclosure using the 
fasteners.
Failure to follow these 
instructions can result in death, 
serious injury or equipment 
damage.                         

RISQUE DE CHUTE
p Utilisez des élingues robustes 
dont la date de péremption n'est 
pas dépassée pour le levage par 
grue.
p Fixez les élingues aux 4 
anneaux de levage de la barre de 
levage des cellules.
p Fixez le socle de l'armoire à 
montage au sol (fixations fournies).
Le fait de ne pas suivre ces 
instructions peut entraîner des 
blessures graves, voire 
mortelles, ou  endommager 
l'équipement.

PELIGRO DE CAÍDA
p Utilice eslingas resistentes con 
una fecha de caducidad válida al 
elevar cargas con grúas.
p Coloque las eslingas en los 
4 anillos de elevación de la barra 
elevadora de las cabinas.
p Asegure la base de la estructura 
de montaje en el suelo con las 
sujeciones.
El incumplimiento de estas 
instrucciones podría tener como 
resultado la muerte, lesiones 
graves o provocar daños en el 
equipo.

STURZGEFAHR
p Verwenden Sie beim Anheben 
mit Kranen starke Hebegurte mit 
gültigem Haltbarkeitsdatum.
p Befestigen Sie die Hebegurte an 
den 4 Transportösen der 
Hebeschiene der Schaltfelder.
p Sichern Sie den Sockel des 
Standgehäuses mithilfe der 
Befestigungselemente.
Eine Nichtbeachtung dieser 
Anweisungen kann zu Tod, 
schweren Verletzungen oder 
Schäden an der Ausrüstung 
führen.

RISCHIO DI CADUTA
p Quando si solleva con le gru, 
utilizzare imbracature robuste con 
una data di scadenza valida.
p Fissare le imbracature ai 4 anelli 
di sollevamento della barra di 
sollevamento delle cabine.
p Fissare lo zoccolo dell'armadio a 
pavimento utilizzando gli elementi 
di fissaggio.
Il mancato rispetto di queste 
istruzioni può provocare morte, 
gravi infortuni o danni alle 
apparecchiature.

RISCO DE QUEDA
p Utilize lingas resistentes com 
uma data de validade válida para 
elevação com gruas.
p Fixe as lingas nos 4 anéis de 
elevação da barra de elevação 
dos cubículos.
p Fixe o rodapé do armário de 
instalação no chão utilizando os 
fixadores.
O não cumprimento destas 
instruções pode resultar em 
morte, lesões graves ou danos 
no equipamento.

坠落危险
p 使用起重机起吊时，请使用未超
出截止使用日期的强力吊索。
p 将吊索连接到电气柜吊杆的 4 个
吊环上。
p 使用紧固件固定落地式机箱的底
座。
未按说明操作可能导致人身伤亡或
设备损坏等严重后果。

ОПАСНОСТЬ ПАДЕНИЯ
p При подъеме с помощью 
кранов используйте прочные 
стропы с действительным 
сроком использования.
p Прикрепите стропы к 4 
подъемным кольцам подъемной 
планки секций.
p Прикрепите цоколь напольного 
шкафа с помощью крепежных 
элементов.
Несоблюдение данных 
инструкций может привести к 
смерти, серьёзной травме или 
повреждению оборудования.

WARNING / AVERTISSEMENT / ADVERTENCIA / WARNUNG / 
AVVERTIMENTO / ATENÇÃO / 警告 / ОСТОРОЖНО



04/40 BRU63976A-00

20
00

20
00

20
00

1200800 700
X

800 800

NSYSFN20380
NSYSFN20580

NSYSFPN20780● NSYSFPN20780●NSYSFN2012802D●

NSYSFN2012802D● NSYSFN20●80●

  X
300
500
 

x2

x2

A

x2

1

2

NSYSPF3200 /
NSYSPF5200 /
NSYSPF7200 /
NSYSPF12200

x4

x4

x4
M12x18

x4

x8
M6x13

NSYSPS8200

x4

x8
M6x13

M12

300 / 500 / 700 / 1200

NSYSFPN20780●

www.se.com

7312750001
x40

M6x14

IP55

x2

x4

NSYSFBK

  A

 

457

408

NSYSPF3200 /
NSYSPF5200 /
NSYSPF7200 /
NSYSPF12200 / 
NSYSPS8200



A

2 x8
  4.5 N.m

1
x8

 4.5 N.m

3
x4

  10 N.m

NSYSPF5200 ++
NSYSPS8200

NSYSPF12200 +
NSYSPS8200

X

CR

500
NSYSPF3200
NSYSPS8200

300 1200

X

NSYSPF7200 +
NSYSPS8200

700

NSYEC128

x2

x10
M6x8

x10

NSYEC128

M6

www.se.com

7312750001

1200

1
x8

 4.5 N.m

NSYSPF5100 ++
NSYSPS8100

NSYSPF12100 +
NSYSPS8100

X

CR

500

NSYSPF3100
NSYSPS8100

300 1200

X

NSYSPF7100 +
NSYSPS8100

700

2 x8
  4.5 N.m

3
x4  10 N.m

NSYSPF3100 /
NSYSPF5100 /
NSYSPF7100 /
NSYSPF12100 /
NSYSPS8100

NSYSPF3100 /
NSYSPF5100 /
NSYSPF7100 /
NSYSPF12100

x4

x2

x4
M12x18

x4

x4
M6x13

M12

NSYSPS8100

x2

x4
M6x13

300 / 500 / 700 / 1200

A

05/40BRU63976A-00



NSYSUCR6580

x16
M6x14

x4
x2

www.se.com

7312750001

www.se.com

7312750001

www.se.com

7312750001

x6

x2

M6x8
NSYEC381

x6
M6

x2

x10
M6x8

x10
M6

NSYEC581 / NSYEC781
NSYEC581 / NSYEC781

500 / 700

NSYEC381

300

x2

x10
M6x8

x10
M6

NSYEC1281

1200

www.se.com

7312750001

06/40 BRU63976A-00

NSYEC1281



380

455
430

380

x16 x4
x2

M6x14

NSYSUCR9080

07/40BRU63976A-00

NSYSUCR9080
Canalis KTC

200

380



NSYVR18

x2

1

2

1696

x2

x2

1579

+
x2

x2

1543

167.5 150

x10
M6x16

x6
M6

x10

x4
M6

M6

p.09

LVS06500

BA

x2

  8 N.m

1

x2
  8 N.m2

1

x4   8 N.m

x2

  8 N.m

2

NSYVR18

x2

x2

1115

2

08/40 BRU63976A-00

1
1696



A

x44
M6x16

x46
M6

x58

LVS06500

x4

x8
M6x13

x4
M6

M6

x14
x18

M6x25
2

  8 N.m

x21

  4.5 N.m

x2

167.5

A

1
x2

x2

  8 N.m

  8 N.m
2

x16
M6x13

x8
M6x16

x8x4 x8x6
M8x25

x6
M8

x12
M8

M6

x4
LVS06500

LVS03509

NSYSUCR9080

LVS03509 + NSYSUCR9080 x2

1192.5

A

1
x4   8 N.m

  4.5 N.m

2 x4

3 x4

09/40BRU63976A-00

M6

x2
x4x16

M6x14

NSYSUCR9080



10/40 BRU63976A-00

B

1

  8 N.m

x4

D

  8 N.m
1

C

NSYSUCR9080 + NSYSUCR90120 x2

x2

x4x16
M6x14

x30
M6x16

x30

x30
M6x10

NSYSUCR9080

x2

x4x16
M6x14

NSYSUCR90120

p.09

LVS06500

A

2 x4

  4.5 N.m

1 x4

  4.5 N.m

637

B
1

  8 N.m

x3
x3

1 28 N.m

2

350 237 73



M6x13
x6

x8

x8
M6x16

M6

LVS03589

1900

1

1480
2

x2

M6
x8

x2

+

A B

1
  8 N.m

x3
x3

2

350 237 73

1900

1

1430
2

11/40BRU63976A-00

2 x4

  4.5 N.m

1 x4

  4.5 N.m

LVS03589



A B

LVS08566 LVS08566

A

x4
M6x16

BA

2 x4

  8 N.m
298.5

1

  4.5 N.m

1

2

3

  4.5 N.m

1

1

1

2 x4

  8 N.m

2

  4.5 N.m

3

  4.5 N.m

2

1
3

4
  8 N.m

x2

x2

280

12/40 BRU63976A-00



LVS03483 / LVS03500

LVS03483 - MTZ1

x2

x2
M6x16

x4
M6x35

x2 x4

G

A

CD
B

EF

LVS03500 - MTZ2

M6 x 16 M6x35
x2 x4x2 x4

M6x40
x2

x2
M6
x2

x2G

A

CD
B

EF

www.se.com

04696033

MTZ3 3P/4P 

x12

x6
M8x25

x6
M8

A
2

x6
 28 N.m

p.09

LVS03509

MTZ3 3P/4P 

M8

A

87233 x4 

x4

x4 x16
M8x45

87233 

x16
M8

1 x8

1

 16-18 N.m

M8x45

 16-18 N.m

1

2 x16

p.20 p.21

13/40BRU63976A-00

1



x4 x4 x4 x4

x48
M10x60

M10

x96

x48
M10

A

x16

x24

x24

x48
M6

x48
M6

x16

LVS04631

PHA76256

PHA76256

M10
x72x36

x4 x4

x24
M10x60

A

M10x60

50 N.m

50 N.m
50 N.m

1 x4

2 x4

3 x4

M10x60

M10x100 STL

x4 x4

PHA76256

x12
M10x100

M10

x4

N
L3 L2 L1

1 2
x4x4

50 N.m50 N.m

A

x82

x3

1

x3
3

4.5 N.m

4.5 N.m

14/40 BRU63976A-00



x2

NSYSUCR40120 + LVS04678 x2 

NSYSUCR40120 

x2

x4

x6

x6

x12
M6

x12

LVS04678

M6

x6
M6

x18
M6

x18
M6x25

p.09

LVS06500

A

960

LVS04569

1160

LVS04580

18901360

LVS04581

18901690

LVS04582

1 2

X ± 2

13/40BRU63976A-00

2  8 N.m

x2
4.5 N.m

1



 

x6

M8
x18

x18
M8

LVS04625

x2x4
M6x16

x2

x5 x5 M6x35
x16

M6
x6

M6x13
x16

M6

LVS04660

30

A

1
x2

2
x2

3
x12

  4.5 N.m
80

300/500/700/1200

300/500

LVS045pp

LVS045pp x4 + LVS04625 x4 + LVS04660 x2

16/40 BRU63976-01

B

x4

  8 N.m M6x35
1

2 x2

300/500



115

35±4

6

4
4

C

2
3

x18
28 N.m

7

CRAC

L3 L2 L1 N

5 0

9

3P
4P

1

HAZARD OF ELECTRIC SHOCK, 
EXPLOSION, OR ARC FLASH 
p Do not use long Linergy screws 
(reference LVS04767) with Linergy 
LGYE busbars.
p Do not use Linergy screws to affix 
Linergy LGYE joints (references 
LVS04620, LVS04621 and 
LVS04623).
p Do not use Linergy screws to affix 
Linergy LGYE connectors (references 
LVS04602, LVS04603, LVS04604, 
LVS04605 and LVS04607).
Failure to follow these instructions 
will result in death or serious 
injury.   

RISCHIO DI SCARICA ELETTRICA, 
ESPLOSIONE O ARCO ELETTRICO 
p Non utilizzare le viti Linergy lunghe 
(codice LVS04767) con le sbarre 
Linergy LGYE. 
p Non utilizzare le viti Linergy per 
fissare i giunti Linergy LGYE (codici 
LVS04620, LVS04621 e LVS04623). 
p Non utilizzare le viti Linergy per 
fissare i collegamenti Linergy LGYE 
(codici LVS04602, LVS04603, 
LVS04604, LVS04605 e LVS04607). 
Il mancato rispetto di queste 
istruzioni provocherà morte o 
gravi infortuni.

RISCO DE ELECTROCUSSÃO, DE 
EXPLOSÃO, OU DE ARCO ELÉCTRI-
CO 
p Não utilize os parafusos Linergy 
compridos (referência LVS04767) com 
as barras Linergy LGYE.
p Não utilize os parafusos Linergy para 
fixar as junções Linergy LGYE 
(referências LVS04620, LVS04621 e 
LVS04623). 
p Não utilize os parafusos Linergy para 
fixar as ligações Linergy LGYE 
(referências LVS04602, LVS04603, 
LVS04604, LVS04605 e LVS04607).
O não cumprimento destas 
instruções resultará em morte e 
lesões graves.

ОПАСНОСТЬ ПОРАЖЕНИЯ 
ЭЛЕКТРИЧЕСКИМ ТОКОМ, 
ВЗРЫВА ИЛИ ВСПЫШКИ ДУГИ
● Не используйте длинные винты 
Linergy (указатель LVS04767) со 
сборными шинами Linergy LGYE.
● Не используйте винты Linergy для 
фиксации соединений Linergy LGYE 
(указатели LVS04620, LVS04621 и 
LVS04623).
● Не используйте винты Linergy для 
фиксации разъемов Linergy LGYE 
(указатели LVS04602, LVS04603, 
LVS04604, LVS04605 и LVS04607).
Несоблюдение данных инструкций 
приводит к смерти или серьёзной 
травме.

RISQUE D'ÉLECTROCUTION, 
D'EXPLOSION OU D’ARC 
ELECTRIQUE 
p N’utilisez pas les vis Linergy longues 
(référence LVS04767) avec les barres 
Linergy LGYE. 
p N’utilisez pas les vis Linergy pour fixer 
les éclisses Linergy LGYE (références 
LVS04620, LVS04621 et LVS04623). 
p N’utilisez pas les vis Linergy pour fixer 
les liaisons Linergy LGYE (références 
LVS04602, LVS04603, LVS04604, 
LVS04605 et 04607). 
Le fait de ne pas suivre ces 
instructions entrainera des blessures 
graves, voire mortelles.

PELIGRO DE DESCARGA 
ELÉCTRICA, EXPLOSIÓN O ARCO 
ELECTRICO 
p No utilice los tornillos Linergy largos 
(referencia LVS04767) con las barras 
Linergy LGYE. 
p No utilice los tornillos Linergy para 
fijar los calzos Linergy LGYE 
(referencias LVS04620, LVS04621 y 
LVS04623). 
p No utilice los tornillos Linergy para 
fijar los enlaces Linergy LGYE 
(referencias LVS04602, LVS04603, 
LVS04604, LVS04605 y LVS04607). 
El incumplimiento de estas 
instrucciones tendrá como resultado 
la muerte o lesiones graves.

GEFAHR VON ELEKTRISCHEM 
SCHLAG, EXPLOSION ODER 
LICHTBOGEN 
p Verwenden Sie nicht die langen 
Linergy-Schrauben (Referenznummer 
LVS04767) an Linergy LGYE-Schienen. 
p Verwenden Sie zur Befestigung der 
Lingery LGYE-Schienen (Referenznr. 
LVS04620, LVS04621 und LVS04623) 
nicht die Linergy-Schrauben. 
p Verwenden Sie zur Befestigung der 
Lingery LGYE-Verbindungen 
(Referenznr. LVS04602, LVS04603, 
LVS04604, LVS04605 und LVS04607) 
nicht die Linergy-Schrauben. 
Eine Nichtbeachtung dieser 
Anweisungen hat Tod, schwere 
Verletzungen oder Schäden an der 
Ausrüstung zur Folge.

电击、爆炸或电弧闪光危险□
● 安装 Linergy LGYE 母线时不能使用 
长的 Linergy 螺钉 (编号 LVS04767)。
● 不能使用 Linergy 螺钉固定 Linergy 
LGYE 接头 (编号 LVS04620、 
LVS04621 和 LVS04623)。
● 不能使用 Linergy 螺钉固定 Linergy 
LGYE 连接器 (编号 LVS04602、 
LVS04603、LVS04604、LVS04605 和 
LVS04607)。
未按说明操作将导致人身伤亡等严重后
果。

DANGER / DANGER / PELIGRO / GEFAHR / PERICOLO / PERIGO / 危险 / ОПАСНО

17/40BRU63976-01



L3 L2 L1 N

x2

1
2

3

D

5

4

4.5 N.m

5

4.5 N.m

18/40 BRU63976A-00

6

x2

  8 N.m

M6x16

A

x2

x10
M6

x5 x5

4.5 N.m

x3

4.5 N.m

≤250
≤250

≤250
≤250

LVS04675 x3

x10

LVS04675

M6



GDE86738 + GDE88046

19/40BRU63976A-00

x6

x6 x2

x2

x2

x2

x2
x2x2

x2

L3L2, L1, N N

L1 L3

x2x2

L2

M10x60
x112

M8x40
x32

M8
x32

M10x40
x24

x136
M10

x272
M10

x64
M8

x8x8

x8

LVS04769

LVS04769 x4 GDE86738 / GDE88046

M8
x24x24

M8

GDE86738

GDE88046

GDE86738

GDE88046



28 N.m

7 x18

CRAC

6
50 N.m 1

x2

2

3

50 N.m

28 N.m4

50 N.m

L3

5

M10x60

M10x60

M8x40

M10x40

p.13

B

B’

2

350 N.m

x2

x2
4

50 N.m

x2
28 N.mM8x40

M10x40

L2

6

7 x18
28 N.m

CRAC5

50 N.m 1
x2

M10x60

M10x60

p.13

20/40 BRU63976A-00

50 N.m

A



B’’

50 N.m 1
x2

2 x2

L1

5

6

7 x18
28 N.m

CRAC

M10x60

28 N.m
4 x2

50 N.m

M8x40

M10x40
3 x250 N.m

M10x60

p.13

B’’’

50 N.m 1
x2

2
6x2

3

50 N.m

x2

N

5

28 N.m

7 x18

CRAC

M10x60

M10x60 4

50 N.m

28 N.mx2 M8x40

M10x40

p.13

M6

x2

x6

x3 x3

x3

LVS04678

A

4.5 N.m

4.5 N.m

M6

M6

x4

x12

x6 x6

x12
M6p.14

LVS04631

21/40BRU63976A-00



B
4.5 N.m

x16
M6x14

A

180

  8 N.m

x2

A

x48
M10x60M10

x96x48
M10

x8

50 N.m

NNZ16604

LVS04739

x16
M12x60M12

x32x16
M12

22/40 BRU63976A-00



1

B
2

x2   8 N.m

x16

LVS04582 xN + LVS04627 xN + LVS04654 x5 + LVS04655
LVS04582 LVS04655

x6
M6x13

x3

x3

x9
M6x35

x9
M6

x9
M6

x4

x8

LVS04627

M8
x18

x18
M8

x3

x3

x2

x10
M6

x12
M6

x5

x5

LVS04654

x2
M6x16

x2
M6

4 4 8N

A
x31

x6
  4.5 N.m2

M6x13

125
125

23/40BRU63976A-00

3
  4.5 N.m



D

x2
A

B

1 2

3

x2

x2

  8 N.mM6x16

E
1

x2

2x5

4.5 N.m

1
x3 x62

  8 N.mM6x35

72

B

x8

1

x4

2

C
8115 115 115

4P3P

L3
L2 
L1 
N

L3
L2 
L1 

1 x4

1512 ± 2

x42

1690

p.15

Icw (kA eff. / 1 s)

60

2+2

50

417.5 417.5 417.5 417.5 642.5 642.5
350 350
2+2

65

350
2+2

75

350
2+2

85

250
2+3

100

250
2+3

LVS04582

A
B

2+2 = 2 x LVS04654 + 2 x LVS04662
2+3 = 2 x LVS04654 + 3 x LVS04662

24/40 BRU63976A-00



2

3

F
3P
4P

L3 L2 L1 N

4
5

78

24

1

8

81

G

H

25/40BRU63976A-00

6
x9

28 N.m

7

CRAC

10
9

x9

28 N.m

CRAC

11

x2
4.5 N.m

x3

4.5 N.m

4.5 N.m



A

C

B

137

x16

725

775

200

LVS04990 x2

x16
M6x16

x8
M6

x8
M6

x8
M6

x2

x4LVS04990

6300

X

≤4000

4000-6300

300

500

1 x8

2 x16
  8 N.m

1

1

2

1
  8 N.m

x16

500 300

4000

26/40 BRU63976A-00



LVS04510 x4 + LVS04622 x4 +
LVS04646 x2 + LVS04648 x2 + 
LVS04649 x3 + LVS04678 x2

x2

x2
M8

x8

A
3P
4P

3

x4

28 N.m

5

CRAC

4

1

2

50

L3 L2 L1 N

1625
 X ± 2 

1 x4 x42

LVS04510 

M8
x8

LVS04622

LVS06540 x2

x12
M6x16

x6
M6

x2

x3

LVS06540

www.se.com

JYT7854201

300 300

p.15

x2
x6

M6
x6

LVS04678

M6

x10
M6

x10
M6

LVS04649
x2

LVS04648

LVS04646
+

LVS04678

LVS04648

LVS04646
+

LVS04649

x3
M6

x3
M6

x3
M6x35

LVS04646

x12 x12

27/40BRU63976A-00



x2
x12

M6x13
x20

M6x16

x8
M6

x20

C

2 x8
  8 N.m

3
x12  8 N.m

x6

1 x6

2 x6
  8 N.m

3
3

x6
4

  8 N.m

A

x6

x6

x6
M6x13

M6x16
x2

M6

LVS03591 

LVS04972

M6x16M6x16

BA

1
  4.5 N.m

x12

1 1

x12
M6x12

2 m

4 m

7,5 m

14,5 m
505

30

x12

M6

1 x3

A

  4.5 N.m
x24

M6x13

x2

LVS03599

1200

2
x24

28/40 BRU63976A-00



A

1

1

A

1

2

2

2

2

3

4

NSY2SPN208●

LVS03707 + LVS03708 x2 

2

2

x8

x8

A

92±0,8

200±1

2x 291±0,5

(1166,5)

(1
96

6,
5)

2x 291±0,5

2x
 2

91
±0

,5

2x
 2

91
±0

,5

2x
 9

33
±1

,6

2x
 1

58
3±

3

x4

LVS03707 LVS03708 
x4 x4

x2

29/40BRU63976A-00

13 m

12 m

13 m



www.se.com

EAV2782301

NSYCVF850M230PF x2
NSYCVF850M230PF

www.se.com

7364900011

NSYCAG291LPFNSYCAG291LPF x2

x4
M12x23

p.04

NSYSFN2012802D●

A

270±1 228±0,5

200±1 228±0,5

2x
 M

±1
2x

 2
28

±0
,5

(7
96

)
(1196)

A

19
±0

,5
19

0±
1

19±0,5 190±1

6±
0,

4

240±1

24
0±

1

DETAIL A 

6±0,4

8x Ø7±0,15

M 284 184 184

www.se.com

AAV32049

x4
  6 N.m 2

x6
3    3 N.m

1

x6
M6x10

x4
M12

1'

30/40 BRU63976A-00



www.se.com

NHA8041101

NSYCAC228RM●

NSYCAC228RM● x2

x12
M6x13

A

2
  4.5 N.m

x6

x3
LVS06569

NSYCAC228RM●

x2

x2

A
1

  8 N.m x8

LVS04971 

x22
M6x16

x14
M6

2

B

1
x2

  8 N.m

x8
M6

x22
M6

31/40BRU63976A-00

1x3

1



B’

4

1 2

x8

  8 N.m
x8

133±0,8291±0,5

29
1±

0,
5

18
8±

1

(1966,5)

(6
66

,5
)

A

1
2 x8

3 3

32/40 BRU63976A-00



x4x4

x4

M12x23 M6x10

284±1 228±0,5

23
4±

1
22

8±
0,

5

(6
96

)

(796)

A

19
±0

,5
19

0±
1

19±0,5 190±1

6±
0,

4

240±1

24
0±

1

DETAIL A 6±0,4

8x Ø7±0,15

p.03

M12

www.se.com

7364900011

NSYCAG291LPF 

NSYCAG291LPF 

NSYSFPN20780●

A

x4

  6 N.m

2

x4
3    3 N.m

1

33/40BRU63976A-00



www.se.com

NHA8041101

NSYCAC228RM● NSYCAC228RM●

x2 x8
M6x13

A
1

x2

x2

A

1

1

  8 N.m

x8

LVS03598

LVS04970

x14
M6x16

x14
M6

2

B

1 x2
  8 N.m

x14
M6

2
  4.5 N.m

x4

x12

x12

x12

x12

x2

M6x13

M6x16

M6

A

LVS04979

9

54

1

45
57,7

2

x12

  4.5 N.m

500

2

2

2
1

x12

  4.5 N.m

3

34/40 BRU63976A-00



A
1

NSYCAG291LPF

1'

x4
M12x23 M6x10

x2

A

1

2

3

x4  6 N.m

1'

133±0,8291±0,5
29

1±
0,

5
88

±1

(1966,5)

(4
66

,5
)

284±1 228±0,5

13
4±

0,
8

22
8±

0,
5

(4
96

)

(796)

A

19
±0

,5
19

0±
1

19±0,5 190±1

6±
0,

4

240±1

24
0±

1

DETAIL A 6±0,4

8x Ø7±0,15

www.se.com

7364900011

NSYCAG291LPF 

2 x8
2' x8

x2

p.04

NSYSFN20580●

    3 N.m

x4
M12

35/40BRU63976A-00



NSYCAC228RM●NSYCAC228RM●
NSYCVF575M230M●

NSYCVF575M230M●
www.se.com

NHA8041101

NSYCAC228RM●

LVS04515 x3 + LVS04681 + LVS04682 x6

3P
PE

4P
L3L3

x2

x80
M8 M8x25

x40

x40
M8

LVS04681
x3

x3

M6x16
x3

M8x25
x3

x15
M8

x9
M8 M6

x3
M6

x3
M8

x3

LVS04515

A

  4.5 N.m

x12
1

30

NSYCVF575M230M●

LVS04682

x2 x2
x2

M6x13
x2

M6x16
x2

M8x25
x4

x8
M8

x4
M8

M6

x2
M6

36/40 BRU63976A-00

L3
L2

L1
N

1200
500

500

500

700

700



B

1 x4

  8 N.m

2x4
M6x16

230 528 244

1200 700

x104 5 x2

1

X
1675

2

C

D

1
x3

2
x3

400

400

368

  8 N.m

  28 N.m
  28 N.m

1

1
1

3 x4  28 N.m

M8x25
M8x25

M8x25
M8x25

  28 N.m

  28 N.m

M6x16

37/40BRU63976A-00



E

3

2
x3

1
  28 N.m

  28 N.m

  28 N.m

M8x25

M8x25

M8x30

1 L3
L3

G

1

103

  28 N.m

CRAC

28 N.m
x92

F

2

  28 N.m

M8x25

M8x30

38/40 BRU63976A-00



NSYSFELB
NSYSFTB16

x20
M12x35

x20

x8
M12x35

x8NSYSFELB NSYSFTB16

x4
M12 M12x2

1
x4

2
x4

  10 N.m

A A’ NSYSFTB16 NSYSFELB 

1
x2

2 x2

  10 N.m

B
500 kg 2000 kg

39/40BRU63976A-00



En raison de l'évolution des normes et du matériel, 
les caractéristiques indiquées par le texte et les 
images de ce document ne nous engagent qu'après 
confirmation par nos services.

As standards, specifications and designs change 
from time to time, please ask for confirmation of the 
information given in this publication.

Ce document a été 
imprimé sur du papier 
écologique.
This document has been 
printed on ecological 
paper.

Schneider Electric Limited
Stafford Park 5
Telford, TF3 3BL
United Kingdom
www.se.com/uk

Publication : Schneider Electric
Réalisation : 
Impression :
page dimension : 

Schneider Electric Industries SAS
35, rue Joseph Monier
92500 Rueil-Malmaison
France

www.se.com

BRU63976A-00 03/2025


	Page-1,2,3
	Page-4,5,6,7
	Page-8,9,10
	Page-11,12,13
	Page-14,15
	Page-16,17,18,19
	Page-20,21,22
	Page-23,24
	Page-25,26
	Page-27,28
	Page-29,30
	Page-31,32
	Page-33
	Page-34
	Page-35,36
	Page-37,38
	Page-39,40

